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Comprehension MCQ

Consider the following facts about management.

A Efficiency and effectiveness both terms have smmilar meaning

B. Effectiveness and efficiency both terms do not have similar meaning
C. Management has four dimensions

D. Management has three dimensions

E. Principles of management are not as exact as the Principles of Science

Choose the correct answer from the options given below:
1. A.B. C only
2.A.D.Conly
3.B.DE only

4. B, C. E only

Options:

63238617741. 1
63238617742. 2
63238617743. 3

63238617744. 4
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63238617742. 2
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Identify the correct features of Business Environment.
1. Certamty. relatively and independent
2. Static. complexity and inter-relatedness
3. Complexity. Relatively and inter- relatedness

4. Relativity. static and complexity

Options:

63238617745. 1
63238617746. 2
63238617747.3

63238617748. 4
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63238617745. 1
63238617746. 2
63238617747.3



63238617748. 4
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Choose the correct sequence of first five steps of setting up a business.

A. Appraisal by the funding agencies
B. Scanning the enviromment for entrepreneurial opportunities
C. Assessment of feasibility of the idea and preparation of business plan

D. Resource mobilisation

E. Development of product/service idea

Choose the correct answer from the options given below:

1.B.D.A.C.E
2: DB A B.C
3. D.B.E.C.A
4.D.B.C.E.A
Options:
63238617749. 1
63238617750. 2

63238617751.3
63238617752. 4
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Options:

63238617749. 1
63238617750. 2
63238617751.3
63238617752. 4
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Which among the following factors affects capital Budgeting decision.

A, Floatation cost

B. Cash flow of project

C. Control considerations

D. The rate of return

E. The investment eriteria involved

Choose the correct answer from the options given below:

1.B.D and E only

[

.C.A. and B only
3.D.B and C only

4. A. B and C only

Options:

63238617753. 1
63238617754. 2
63238617755. 3

63238617756. 4
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63238617753. 1
63238617754. 2
63238617755. 3

63238617756. 4

Question Number : 225 Question Id : 6323864440 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Consumer protection 1§ important due to widespread of consumers about their rights and reliefs.
1. Unorganised
2. Ignorance
3. Enlightened
4. Protected

Options:

63238617757. 1
63238617758. 2
63238617759. 3

63238617760. 4
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Arrange the following in a proper sequence (i respect of distribution channel).

A, Agent

B. Retailer

C. Customer

D. Manufacturer
E. Wholesaler

Choose the correct answer from the options given below:
1.D.C.B.AE
ZDAE.B.C
3.D.B.E.A.C
4.D.E.A B.C

Options:

63238617761. 1
63238617762. 2
63238617763. 3

63238617764. 4
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63238617761. 1
63238617762. 2
63238617763. 3

63238617764. 4
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Identify the step/ element which is not a part of motivation process.

1. Unsatisfied need
2. Tension
3. Relaxation
4. Drives

Options:

63238617765. 1

63238617766. 2

63238617767.3
63238617768. 4
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63238617765. 1
63238617766. 2
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Match List T with List 1T

LISTI LISTII
A |Production concept I. |satisfaction of customer needs
B. [Product concept II. |Quantity of product
C. [Selling concept ITT. |Aggressive selling techniques
D. Pvlarketing concept IV, |Quality of product

Choose the correct answer from the options given below:

1. A-L. B-IL. C-IIL. D-IV

[ ]

CACITL B-IV, C-IIIL D-I

CACILL B-IV. CHIIL D-I

e

4. A-IL B-L. C-I1L. D-IV

Options:

63238617769. 1
63238617770. 2
63238617771.3

63238617772. 4
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Options:

63238617769. 1
63238617770. 2
63238617771.3

63238617772. 4
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If there was no planning, employees would be working m different directions and the organisation would not
be able to achieve its desired goals,

Which of the following importance of planning 1s highlighted 1n the above lines?
1. Planning provides directions
2. Plannig reduces the risk of uncertainty
3. Planning facilitates decision making

4, Planning provides mnnovative ideas

Options:

63238617773. 1
63238617774.2
63238617775. 3

63238617776. 4
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63238617773. 1
63238617774. 2
63238617775. 3

63238617776. 4
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As per Consumer Protection Act, 2019. District commission has a jurisdiction to entertain complaints where
value of goods or services paid as consideration.

. Exceeds one crore rupees
2. Does not exceed one crore rupses
3. Exceeds two crore rupees

4. Does not exceed two crore rupecs

Options:

63238617777. 1
63238617778. 2
63238617779. 3
63238617780. 4
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63238617777. 1
63238617778. 2
63238617779. 3

63238617780. 4
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Capital Structure refers to the mix between owners and borrowed funds. Which of the following 1 the correct
formula.

. Debt/Equity
2. Equity/Debt
3. Debt - Equity
4, Debt * Equity

Options:



63238617781. 1
63238617782. 2
63238617783. 3

63238617784. 4
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63238617781. 1
63238617782. 2
63238617783. 3

63238617784. 4
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Comprehension MCQ

'To become a Chartered Accountant m India, a candidate has to clear a specified examination conducted by the
Institute of Chartered Accountants of India’

Which Characteristic of management as a profession is highlighted i the above statement?
1. Ethical code of conduet
2. Professional Assoctation
3. Well defined body of knowledge

4, Restricted entry

Options:

63238617785. 1
63238617786. 2
63238617787.3
63238617788. 4
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Options:

63238617785. 1
63238617786. 2
63238617787.3
63238617788. 4
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Identify the correct sequence of first 5 steps of planning process:-

A. Developing premises

B. Identifying alternative courses of action
C. Evaluating alternative courses

D. Setting objectives

E. Selecting an alternative

Choose the correct answer from the options given below:

LE D, BEA
2oy B G
3ADCRE
4.C, DA B E

Options :

63238617789. 1

63238617790. 2

63238617791. 3
63238617792. 4
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63238617789. 1
63238617790. 2
63238617791. 3

63238617792. 4
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Match List T with List 1T

LISTI LISTIT
[Unity of I Pay and compensation should be fair to
command " lemplovees and organisation

Dristribution of decision making authority

B. [Eemuneration II.
amongst many personnels.

Only one boss for every
[ndividual emploves
D. [Decentralisation | IV. [Fairness to all emplovees

C. [Equity 11

Choose the correct answer from the options given below:
1. A-IT. B-IIIL C-IV, D-I
2. A-L B-IL C-IILL D-IV
3. A-IL B-1, C-IIL D-IV

4. A-IIL B-1. C-IV. D-II

Options:

63238617793. 1
63238617794. 2
63238617795. 3
63238617796. 4
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63238617793. 1
63238617794. 2
63238617795. 3

63238617796. 4
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Match List T with List IT

LIST 1 LIST I1
.+ [Political Consumption & habits pattern of
A : .
environment pusehold
B P II. [Scientific improvements and innovations
environment
C Social I General stability of elected govt and 1ts
" lenvironment " Jattitude towards business
D Technological IV Change in interest rate, mflation and
" lenvironment " |dispozable income

Choose the correct answer from the options given below:

1. A-IV. B-III, C-I, D-IT

[ ]

AW B-IV. C-L D-II

CA-IL B-LL C-IIL D-IV

L%

4. A-L. B-IL. C-IIL. D-IV

Options:

63238617797. 1
63238617798. 2
63238617799. 3

63238617800. 4
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Arrange the following steps of organising process in a logical sequence.

A. Establishing authority and reporting relationship
B. Identification of work

C. Departmentalisation

D. Division of work

E. Assignment of duties

Choose the correct answer from the options given below:
1.C.D.E.A.B
2. C,E;ABD
3B/ D C E A

4 A.B,C.D.E

Options:

63238617801. 1
63238617802. 2
63238617803. 3

63238617804. 4
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Options:

63238617801. 1
63238617802. 2
63238617803. 3
63238617804. 4
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"The Formal lines of authority from highest to lowest ranks are known as I
1. Order
2. Equity
3. Unity of direction

4. Scalar chain



Options:

63238617805. 1
63238617806. 2
63238617807. 3
63238617808. 4
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63238617805. 1
63238617806. 2
63238617807. 3

63238617808. 4
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Which among these 1s not a traditional method of controlling.

1. Statistical reports

[

. Breakeven analysis

3. PERT and CPM

o

. Budgetary control

Options:

632386178009. 1
63238617810. 2
63238617811.3

63238617812. 4
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63238617811.3

63238617812. 4

Question Number : 239 Question Id : 6323864454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Characteristics of entrepreneurship include.

A. Lawtul and purposetul Activity
B. Low level of risk

C. Innovation

D. Systematic Activity

E. Organisation of production

Choose the correct answer from the options given below:

1. A.Band C only

| S}

.B. Cand D only
3.A.B.E and D only

4.A.C,DandE only

Options:

63238617813. 1
63238617814. 2
63238617815. 3
63238617816. 4

Question Number : 239 Question Id : 6323864454 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ
SefEdT & aeoi § e g
A. groqul 3R 34y qul fshar e
B. g ¥R @1 Wifan
C. AddIX
D. Fai¥Yd feha1 sy

E. 3cME] &1 W16
- {42 71U faedi § 8 Gl TR &1 98- DI -
1.Pad A, B IR C
2. $ad B, C IR D
3.%ad A, B.E 3R D
4. FAd A, C,D R E

Options:

63238617813. 1
63238617814. 2
63238617815. 3

63238617816. 4

Question Number : 240 Question Id : 6323864455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Identify single use plans from the following plans

1. Project and Budget

[

. Methods and Budget

3. Procedures and Project

o

. Rules and Programme

Options:

63238617817. 1
63238617818. 2
63238617819. 3
63238617820. 4

Question Number : 240 Question Id : 6323864455 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

% fafad OieH1 & 9 Uhd IUanT areil &1 gg=-g
1. IRTGHAT 3R g6ie
2. faf¥ 3R wwie
3. Wfchan 3R AT
4, Fan SR SRiHT

Options:

63238617817. 1
63238617818. 2
63238617819. 3
63238617820. 4



Question Number : 241 Question Id : 6323864456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Arrange the steps of controlling process i their correct order or sequence.

A Setting performance Standards

B. Measurement of actual performance

C. Analysing deviations

D. Taking corrective action

E. Comparison of actual performance with standards

Choose the correct answer from the options given below:
1.LBA.C.D.E
224 B EC.D
3.AEBCD

4. C.A D B.E

Options:

63238617821. 1
63238617822. 2
63238617823. 3

63238617824. 4

Question Number : 241 Question Id : 6323864456 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension MCQ

fE=107 Ueh T o =RUT &1 el b H oUafd $i|

A, Fe1eT gHds RIftd A1

B. ARid® g o1 A1

c. fo=rai o1 fa=eryor

D. GURTEP B P

E. dRdfd® A1 o1 ArHdst 9 goHl

i fou 71 fasedl § O Ugl 3R &1 944 Bifull

1.B.AC.D.E

2ABECD
3.4, BB, €D

4 C.AD.B.E

Options:

63238617821. 1
63238617822. 2
63238617823. 3

63238617824. 4

Question Number : 242 Question Id : 6323864457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Techniques of controlling meludes.

A. Ratio analysis

B. PERT and CPM

C. On the job training
D. Management audit
E. Off the job traming

Choose the correct answer from the options given below:
1.A.C.D and E only

2.A. Band D only

k

3.B.C.D and E only

4. C,D and E only

Options:

63238617825. 1
63238617826. 2
63238617827.3

63238617828. 4

Question Number : 242 Question Id : 6323864457 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




g0 &t g@-ie! giad $dl o
A. 3T faaisor
B. PERT ¥ CPM
C. Bfafe 5 uidremo
D. W& AETaRlef
E. SIOgid WiRief
i fau U fasedi O O 9ad Suged Il &1 99 Bl -
1.HPATA. C.D ARE
2. HAAA. B IR D
3. HGdB.C.D ARE

4, Padc.DIARE

Options :

63238617825. 1
63238617826. 2
63238617827.3

63238617828. 4

Question Number : 243 Question Id : 6323864458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




" A comprehensive plan which helps in accomplishing an organisation objective.

1. Policy
2. Strategy
3. Procedure
4. Rule

Options:

63238617829. 1

63238617830. 2

63238617831. 3
63238617832. 4

Question Number : 243 Question Id : 6323864458 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TS ATIH YRS oM Ol G169 & 3634l @1 g 5 e &l 8 :
1.9

4. Fom

Options:

63238617829. 1
63238617830. 2
63238617831. 3

63238617832. 4



Question Number : 244 Question Id : 6323864459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Match List T with List IT

LISTI LISTIT
A [Fixed capital I. [EBIT/ interest
B. [Working capital II. [Investment in non-current Assets
B Inte_r-:st coverags III. [[nvestment in current Assets
Fatio
b Baincaiiseanive | 1% Proportion of debt in the capital
= structure

Choose the correct answer from the options given below:

1. AL B-IV, C-IIT, D-II

| S

CA-IL B-IOO, C-1, D-IV

L%}

AL B-IL, C-TV, D-1
4. A-TV. B-IT, C-I1I, D-I

Options:

63238617833. 1
63238617834. 2
63238617835. 3

63238617836. 4

Question Number : 244 Question Id : 6323864459 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

e 11 g 11 ¥ e ifen

I = 10
Rﬂ% I |EBIT=

DU Yol 1L |TR_re] ool ® FHaw
TS o1 U | 11 | =i ulxguiadt # Faw
Tt IaleA 1V | ol g1 § 01 &1 guEua

fFfeiad faeedl § U U8l 3R &1 994 DIfU

1. AL B-IV, C-III, D-T1

o) Kol lv=l I

| ]

CA-IL B-IOL, C-1, D-IV

AL B-IL C-IV. D-1

(5]

4. A-IV. B-II. C-ITI, D-I

Options:

63238617833. 1
63238617834. 2
63238617835. 3

63238617836. 4

Question Number : 245 Question Id : 6323864460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the following steps involved in communication process.

A. Encoding
B. Sender
C. Message
D. Decoding
E. Receiver

Choose the correct answer from the options given below:
1.B,C,A.D,E
2:ByE DT
3.B,D,E,C A

4. B.E.C.D. A

Options:

63238617837. 1
63238617838. 2
63238617839. 3

63238617840. 4

Question Number : 245 Question Id : 6323864460 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Ty yichar § | Fafafad vl o gegafeyd Sifs)
A. PeIlGHI (TABIFET)
B. U4&
C. T<T
D. Pedlg &l
E. WY&

1 f6u 71 fawed! § O Ul 3R &1 944 Difoll

1.B.C,ADE

2: BB DAL C
3. By BB A

4 B.E.C.D.A

Options:

63238617837. 1
63238617838. 2
63238617839. 3
63238617840. 4

Question Number : 246 Question Id : 6323864461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the correct pair of elements of directing.
1. Co-ordmation and Leadership

2. Motivation and Communication

Ui

. Supervision and Decentralisation

4. Delegation and Communication



Options:

63238617841. 1
63238617842. 2
63238617843. 3

63238617844. 4

Question Number : 246 Question Id : 6323864461 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

=M & dodl & gyfd gl O drere Rftd S
1. 9999 YT dd

. SATLUROT YT T

 Rigesur Ut fas-idru

4. YT T R0

| )

faa

Options:

63238617841. 1
63238617842. 2
63238617843. 3

63238617844. 4

Question Number : 247 Question Id : 6323864462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Reduction of controlling power of existing equity shareholders m a company 13 a result of.
1. Issue of new equity shares
2. Issue of new preference shares
3. Issue of new debentures
4. Issue of new bonds

Options:

63238617845. 1
63238617846. 2
63238617847.3
63238617848. 4

Question Number : 247 Question Id : 6323864462 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

et Sl  faeraT TfeeT (FHaT) SIRIYRS] 1 (801 ik &1 51 IR & -
1. 1T ST 32l o1 i
2. U S ol @1 i
3. U B! BT g
4, Y Syl 1 e
Options :

63238617845. 1
63238617846. 2



63238617847.3

63238617848. 4

Question Number : 248 Question Id : 6323864463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Labelling 15 an element of which 'p' of marketing mix?
1. Product
2. Price
3. Place

4. Promotion

Options:

63238617849. 1
63238617850. 2
63238617851. 3
63238617852. 4

Question Number : 248 Question Id : 6323864463 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




e faquE &g & P ¥ URH i a1d [y dd 9 Sefid g1
1. Product (3HIF)

. Price (HeH)

. Place (&4[-)

| )

faa

. Promotion ﬁfﬁh}

s

Options :

63238617849. 1
63238617850. 2
63238617851. 3
63238617852. 4

Question Number : 249 Question Id : 6323864464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the mcorrect option about planing from the following.

1. Planning 1s mental exercise

[

. Planning 1is futuristic

3. Planning 1s only for long run

o

. Planning involves decision making

Options:

63238617853. 1
63238617854. 2
63238617855. 3



63238617856. 4

Question Number : 249 Question Id : 6323864464 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Fafead O 9 e[ & aR T =[S [dPed ¥ drared RiIud S|
1. FOeH oo aEfas aaE B |

2, FEeH wfewEd §
3. FgiorE A dafafy 8 B
4, AT -yl &1 3mafd SRl g |

Options:

63238617853. 1
63238617854. 2
63238617855. 3
63238617856. 4

Question Number : 250 Question Id : 6323864465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Essential element(s) of delegation 1s /are.

1. Authority only

[

. Responsibility only

3. Authority and responsibility only

o

. Authority. responsibility and Accountability

Options:

63238617857. 1
63238617858. 2
63238617859. 3

63238617860. 4

Question Number : 250 Question Id : 6323864465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

TG &1 UGS dd ©

1. Fdd HIHR

Had Saldd

| )

. ad WIYHR Td 3ualidd

4. UIYPR, Iaiaiidd ud forart

LY ]

Options:

63238617857. 1
63238617858. 2
63238617859. 3

63238617860. 4



Question Number : 251 Question Id : 6323864466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the factor, which does not affect the pricing of a product.

1. Cost of product and its Utility

[ o]

. Pricing of product and Extent of competition

L

. Cost of product and Marketing method used

4. Marketing method used and Pricing objective

Options:

63238617861. 1
63238617862. 2
63238617863. 3
63238617864. 4

Question Number : 251 Question Id : 6323864466 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Y BR® ¥ dared R BT ol bl & Geod &1 UHTiad Tel B 62
. 31 P AN U4 59D ST

T 1 JeoH Ud Wiceus| o1 iR

. IdIG B AT Ud Ygad [a9urT Ui

. 9 fauuH Ugfd Ud o S5

fa—

| )

L]

=Y

Options:

63238617861. 1
63238617862. 2
63238617863. 3
63238617864. 4

Question Number : 252 Question Id : 6323864467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Identify the last step of communication process.

1. Feedback

[

. Decoding

Cia

. Encoding

4. Message

Options :
63238617865. 1
63238617866. 2

63238617867. 3



63238617868. 4

Question Number : 252 Question Id : 6323864467 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

EIYU UehH & 2{fdH =R drerey WIUd $ife|
1. Hiagie

. Pekdiq

 PCTGIHRT

4, F<T

| ]

L]

Options:

63238617865. 1
63238617866. 2
63238617867. 3
63238617868. 4

Question Number : 253 Question Id : 6323864468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Match List T with List IT

LIST1 LISTII

Consumer : 2L
g S I. [Claim exceeds 10 crore
Protection Act

Settlement of claim exceeds 1 crors but

B. [District Fo . does not exceed 10 crore

state

[ 85 - II1. [Established in 1986
Comumission
==

D katmn.::d . IV, |Settlement of claim up to 1 crore
Commission

Choose the correct answer from the options given below:

1. A-ITI. B-1, C-II, D-IV

[ ]

CA-ILL B-IV. C-IIL D-I

AL B-IL C-1L D-IV

L%

4. A-IIL B-IV. C-I. D-II

Options:

63238617869. 1
63238617870. 2
63238617871.3

63238617872. 4

Question Number : 253 Question Id : 6323864468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




it 1 1 e 11 ¥ i Sifse

GELD j%‘zﬂn
| SuE W g | L | 10 eis ¥ e G

A

B. | Tsren <marem 11 | 21d &1 FueH 1 3318 © 19 Ug 10 s 4 oA
C. |3rsg AN 111 | 1986 H ®TIUT

D. |39t S IV. | 5308 @ & ald ®1 e

[afeiad faeedl © O 98! 3t &1 904 DI ;

1. A-III. B-I. C-IL. D-IV
2 AL B-IV, CAIL DI

AL B-IIL C-L D-IV

LY ]

4. A-II1L B-IV, C-1. D-II

Options:

63238617869. 1
63238617870. 2
63238617871.3

63238617872. 4

Question Number : 254 Question Id : 6323864469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not an element of delegation?

1. Authority

(o)

. Responsibility

(%)

. Accountability

4. Centralisation



Options:

63238617873. 1
63238617874. 2
63238617875. 3
63238617876. 4

Question Number : 254 Question Id : 6323864469 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Fafafad o 211 yarieH $1 U$ dd T8l o7
1. SR

. FReIEa

. forard

4. P=IDI

| )

faa

Options:

63238617873. 1
63238617874. 2
63238617875. 3

63238617876. 4

Question Number : 255 Question Id : 6323864470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :



Key Value

Comprehension MCQ

Match List T with List IT

LISTI LISTII
A |Unclanfied assumptions I. |Organizational Barriers
B. [Distrust II. [Personal Barriers
C. |Status II1. |Semantic Barrers
D). [Lack of proper incentives IV, |Psychological Barriers

Choose the correct answer from the options given below:

1. A-I. B-II. C-IIL, D-IV

[ ]

AW B-IV. C-L D-II

CACILL B-IV., CAHIIL D-I

L%

4. A-IIL B-IL. C-1. D-IV

Options :

63238617877. 1
63238617878. 2
63238617879. 3
63238617880. 4

Question Number : 255 Question Id : 6323864470 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




T 11 9= 11 ¥ foaH wifou

A1 T I
A | eRgpigd gayrRom L |TTeAIE® a9yl
B. | 3fayrH IL | guigdd aren
C. |ug I11. [2TegTel STemT
D. | 3ugdd Uicrg & &HI | IV. [ 73qidqni—e a1
fafafad famedl O 9 981 SR &1 994 B

1. A-I, B-II, C-III. D-IV
2. A-IILL B-IV, C-1. D-II
3. A-IIL B-IV. C-I1. D-I
4. A-IIL B-1IL C-1. D-IV

Options:

63238617877. 1
63238617878. 2
63238617879. 3

63238617880. 4

Question Number : 256 Question Id : 6323864471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Arrange the Functions of Management in correct sequence.
A. Planning
B. Directing
C. Organising

D. Controlling
E. Staffing

Choose the correct answer from the options given below
LB G DAGE

2.A;B.C,D,E

k

3.C.D,A B E

4 A C.E.B.D

Options:

63238617881. 1
63238617882. 2
63238617883. 3

63238617884. 4

Question Number : 256 Question Id : 6323864471 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




et o UehTdl Bl 3fed SIehd H ogaleud BHiforu-

B. g eH
C. e

< fqu U faoedl H T Tel 3Tk &1 99 S -
LB.C.D.AE
2.2, B.C, D E
DA B E

4 A CEB.D

Options:

63238617881. 1
63238617882. 2
63238617883. 3

63238617884. 4

Question Number : 257 Question Id : 6323864472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Fayol's 14 Principles of management does not include.

A. Authority and responsibility
B. Division of work

C. Unstability of personnel

D. Indiscipline

E. Initiative

Choose the correct answer from the options given below:

1. A and C only

[ ]

.B and D only
3. Cand D only

4. C and E only

Options:

63238617885. 1
63238617886. 2
63238617887. 3

63238617888. 4

Question Number : 257 Question Id : 6323864472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Hald & UeYE & 14 Rgidl J gifead Tl 8

A UTIYHR U8 3aaid
B. P14 @I [aHToH
C. BHARS (@T07) B AR

B aﬂmaaé d
E. JUSHT

=i feu T fasedl | § Hel 3R &1 =0 Hifoi ;
1. Pad A R C
2.3qd B AR D
3.%4d C 3R D
4,990 C AR E

Options:

63238617885. 1
63238617886. 2
63238617887. 3
63238617888. 4

Question Number : 258 Question Id : 6323864473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ




Delegation refers to the:
1. Upward transfer of responsibility from a subordinate to a superior

2. Downward transfer of responsibility from a superior to a subordinate

Cia

. Upward transfer of authority from a subordinate to a superior

4. Downward transfer of authority from a superior to a subordinate

Options:

63238617889. 1
63238617890. 2
63238617891. 3

63238617892. 4

Question Number : 258 Question Id : 6323864473 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
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Options:

63238617889. 1
63238617890. 2
63238617891. 3

63238617892. 4



Question Number : 259 Question Id : 6323864474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

Cross Ltd, a company manufacturing cars 15 a highly successful organisation. For designing their cars, they
follow assembly line production which entails the sequence of operations. place for men, machines and raw
materials ete

Identify the technique of scientific management being followed by Cross Ltd.
1. Time study
2. Motion study
3. Method study

4, Fatigue study

Options:

63238617893. 1
63238617894. 2
63238617895. 3

63238617896. 4

Question Number : 259 Question Id : 6323864474 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:

63238617893. 1
63238617894. 2
63238617895. 3

63238617896. 4

Question Number : 260 Question Id : 6323864475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

T

A manager should replace "T" with "We" in all his conversation with workers to foster team spirit. Identify the
principle of management stated above.

L. Stability of personnel
2. Order

3. Discipline

4, Espirit De Corps

Options:



63238617897. 1
63238617898. 2
63238617899. 3

63238617900. 4

Question Number : 260 Question Id : 6323864475 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
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Options:
63238617897. 1
63238617898. 2

63238617899. 3
63238617900. 4

Sub-Section Number : 2
Sub-Section Id : 632386590
Question Shuffling Allowed : No

Is Section Default? : null



Question Number : 261 Question Id : 6323864476 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

:No

Key Value

Comprehension Comp1

Answer the questions on the basis of following passage:-

Adhunik Ltd 15 a consumer goods manufacturing unit running the business for the last 11 years. The CE.O Mr
Aman wants to raise capital with an objective to modernise the existing plant. For this he has made a plan to
offer equity and preference shares in the primary market. He uses a combination of methods, He got the
prospectus printed, 50 as to make a direct appeal to investors. Also he has invited offers from some brokers to
buy shares at an enbloc value Since Mr. Aman has a great circle of friends who are mstitutional nvestors, he
can soon gather capital. Another method, that he wants to use 1s the online system of stock exchange.

"He got the prospectus printed, so as to make a direct appeal to investors”
Identify the method of floatation mentioned in these lines.

1. E-IPO
2. Rights issue
3. Offer for sale

4. Offer through prospectus

Options:

63238617901. 1
63238617902. 2
63238617903. 3
63238617904. 4

Question Number : 261 Question Id : 6323864476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :




Key Value

Comprehension Comp1
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Options:

63238617901. 1
63238617902. 2
63238617903. 3
63238617904. 4

Question Number : 262 Question Id : 6323864477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Answer the questions on the basis of following passage:-

Adhunik Ltd 15 a consumer goods manufacturing unit running the business for the last 11 years. The CE.O Mr
Aman wants to raise capital with an objective to modernise the existing plant. For this he has made a plan to
offer equity and preference shares in the primary market. He uses a combination of methods, He got the
prospectus printed, 50 as to make a direct appeal to investors. Also he has invited offers from some brokers to
buy shares at an enbloc value Since Mr. Aman has a great circle of friends who are mstitutional nvestors, he
can soon gather capital. Another method, that he wants to use 1s the online system of stock exchange.

"He has mvited offers from some brokers to buy shares at an enbloc value."
Identify the method of floatation used m these lines

1. Offer for sale
2. Offer through prospectus
3. Ruights 1ssue

4, Private placement

Options:

63238617905. 1
63238617906. 2
63238617907. 3

63238617908. 4

Question Number : 262 Question Id : 6323864477 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options :

63238617905. 1
63238617906. 2
63238617907. 3

63238617908. 4

Question Number : 263 Question Id : 6323864478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Answer the questions on the basis of following passage:-

Adhunik Ltd 15 a consumer goods manufacturing unit running the business for the last 11 years. The CE.O Mr
Aman wants to raise capital with an objective to modernise the existing plant. For this he has made a plan to
offer equity and preference shares in the primary market. He uses a combination of methods, He got the
prospectus printed, 50 as to make a direct appeal to investors. Also he has invited offers from some brokers to
buy shares at an enbloc value Since Mr. Aman has a great circle of friends who are mstitutional nvestors, he
can soon gather capital. Another method, that he wants to use 1s the online system of stock exchange.

"Mr Aman has a great circle of friends who are institutional investors."
Identify the method of floatation used mn these lines
1. Private placement

2. Rights issue

(%]

. Offer for zale
4 E-TPO

Options:

63238617909. 1
63238617910. 2
63238617911. 3

63238617912. 4

Question Number : 263 Question Id : 6323864478 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

63238617909. 1
63238617910. 2
63238617911. 3

63238617912. 4

Question Number : 264 Question Id : 6323864479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Answer the questions on the basis of following passage:-

Adhunik Ltd 15 a consumer goods manufacturing unit running the business for the last 11 years. The CE.O Mr
Aman wants to raise capital with an objective to modernise the existing plant. For this he has made a plan to
offer equity and preference shares in the primary market. He uses a combination of methods, He got the
prospectus printed, 50 as to make a direct appeal to investors. Also he has invited offers from some brokers to
buy shares at an enbloc value Since Mr. Aman has a great circle of friends who are mstitutional nvestors, he
can soon gather capital. Another method, that he wants to use 1s the online system of stock exchange.

"Another method he wants to use is the online system of stock exchange.”
Identify the method of floatation used m these lines.

1. Private placement

2. Ofter through prospectors
3.E-IPO

4. Offer for sale

Options:

63238617913. 1
63238617914. 2
63238617915. 3

63238617916. 4

Question Number : 264 Question Id : 6323864479 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

63238617913. 1
63238617914. 2
63238617915. 3
63238617916. 4

Question Number : 265 Question Id : 6323864480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1




Answer the questions on the basis of following passage:-

Adhunik Ltd 15 a consumer goods manufacturing unit running the business for the last 11 years. The CE.O Mr
Aman wants to raise capital with an objective to modernise the existing plant. For this he has made a plan to
offer equity and preference shares in the primary market. He uses a combination of methods, He got the
prospectus printed, 50 as to make a direct appeal to investors. Also he has invited offers from some brokers to
buy shares at an enbloc value Since Mr. Aman has a great circle of friends who are mstitutional nvestors, he
can soon gather capital. Another method, that he wants to use 1s the online system of stock exchange.

In the above case Mr Aman 1s using all methods of floatation which are used i primary market because.
1. It deals in new securities issued for the first time
2. Tt is more transparent
3. No permissions are required from SEBI

4. Existing shares can be easily traded here

Options:

63238617917. 1
63238617918. 2
63238617919. 3

63238617920. 4

Question Number : 265 Question Id : 6323864480 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp1
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Options:

63238617917. 1
63238617918. 2
63238617919. 3

63238617920. 4

Sub-Section Number : 3
Sub-Section Id : 632386591
Question Shuffling Allowed : No

Is Section Default?: null

Question Number : 266 Question Id : 6323864481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value




Comprehension Comp2

Answer the questions on the basis of following passage:-

Lenovo India decided to strengthen its diversimg numbers. It decided to tap its referral system. The company
asked its employees to recommend candidates and decided to reward those who successfully recommended
more women for the same roles.

Today technology major mfosys for mstance, has enhanced the use of technology for the employees referral
process. It has created a portal where employees can view requirements and submit profiles of candidates
directly. Employees can then track the status of their referral real-time,

Which external source of recruitment is used by Lenovo India?
1. Direct Recruttment
2. Casual callers
3. Transfer

4. Recommendations of Employees

Options:

63238617921. 1
63238617922. 2
63238617923. 3
63238617924. 4

Question Number : 266 Question Id : 6323864481 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

63238617921. 1
63238617922. 2
63238617923. 3

63238617924. 4

Question Number : 267 Question Id : 6323864482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Answer the questions on the basts of following passage:-

Lenovo India decided to strengthen its diversing numbers. It decided to tap its referral gystem. The company
asked its employees to recommend candidates and decided to reward those who suceessfully recommended
more women for the same roles.

Today technology major infosys for instance. has enhanced the use of technology for the employees referral
process. It has created a portal where employees can view requirements and submit profiles of candidates
directly. Employees can then track the status of their referral real-time,

It involves shiftng of an employee from one job to another. Identify the source of nternal recruitment.
1. Transters
2, Promotions
3. Direct Recruitment
4. Casual callers

Options:

63238617925. 1
63238617926. 2
63238617927.3

63238617928. 4

Question Number : 267 Question Id : 6323864482 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

63238617925. 1
63238617926. 2
63238617927. 3

63238617928. 4

Question Number : 268 Question Id : 6323864483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Answer the questions on the basts of following passage:-

Lenovo India decided to strengthen its diversing numbers. It decided to tap its referral gystem. The company
asked its employees to recommend candidates and decided to reward those who suceessfully recommended
more women for the same roles.

Today technology major infosys for instance. has enhanced the use of technology for the employees referral
process. It has created a portal where employees can view requirements and submit profiles of candidates
directly. Employees can then track the status of their referral real-time,

Under which external source of recruitment organisations keep a database of unsolicited applicants i their
offices?

1. Employment Exchange
2. Campus Recrustment
3. Placement agencies

4. Casual callers

Options:

63238617929. 1
63238617930. 2
63238617931. 3
63238617932. 4

Question Number : 268 Question Id : 6323864483 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

63238617929. 1
63238617930. 2
63238617931. 3

63238617932. 4

Question Number : 269 Question Id : 6323864484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Answer the questions on the basts of following passage:-

Lenovo India decided to strengthen its diversing numbers. It decided to tap its referral gystem. The company
asked its employees to recommend candidates and decided to reward those who suceessfully recommended
more women for the same roles.

Today technology major infosys for instance. has enhanced the use of technology for the employees referral
process. It has created a portal where employees can view requirements and submit profiles of candidates
directly. Employees can then track the status of their referral real-time,

Which of the following is an mternal source of recruitment?
1. Direct Requirement
2. Advertisement
3. Promotions

4. Campus Recruitment

Options:

63238617933. 1
63238617934. 2
63238617935. 3

63238617936. 4

Question Number : 269 Question Id : 6323864484 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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Options:

63238617933. 1
63238617934. 2
63238617935. 3
63238617936. 4

Question Number : 270 Question Id : 6323864485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2




Answer the questions on the basts of following passage:-

Lenovo India decided to strengthen its diversing numbers. It decided to tap its referral gystem. The company
asked its employees to recommend candidates and decided to reward those who suceessfully recommended
more women for the same roles.

Today technology major infosys for instance. has enhanced the use of technology for the employees referral
process. It has created a portal where employees can view requirements and submit profiles of candidates
directly. Employees can then track the status of their referral real-time,

Which of the following is not included in external sources of recruitment?
1. Direct recruitiment
2. Advertisement
3. Labour contractor
4. Transfers

Options:

63238617937. 1
63238617938. 2
63238617939. 3

63238617940. 4

Question Number : 270 Question Id : 6323864485 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension Comp2
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